A IDIET VI —b (20124 %)

2o © ot g
REEE HESZHER 45164
JEREIEFE . 37684
T E A
I R sz AR
= A [] 4 ST N EU% o - ] A [ 4
HR a4 | 2l | 2ol | EEEE | s | e &gjjf O P Zoft | HE[EIA
TR qH—A a—A
2175|1480 87 26 846 782 105| 1888 82 3 62
PN
[EIE R (%) KT E) © R
: \ ®  reikEE T
=7 %3 DORRE | EBbit| HEY £< 5 1 2
FHIE A B B3 | mam gom B EE mi gwa|em| ;. 4 4 s
IR A R S B
i RAE LY S
® Té%‘g?ﬁﬂ,fm;"b“\ 406 4120 133 44 05 | 417 4.27| 4.03
=
E — ) 3,
é @ é%%%&@f;$é 125 33.0 405 95 44 0.1 3.40| 3.43] 3.35
e
Z SRR (fE 7R
® fig;é:i}iﬁg?i&f;fiﬁgﬁiél 28.1 44.0 235 34 05 05| 3.96| 4.02| 3.88
(E | BEORSWAIT. O | tb | % | gy | OF | 5Th | g
Flo mremmrsocmy | 0 20 0T awe ane FEE s s 4 s
% <L 5.8 212 711 1.7 01 0.1
ZORFEITBTLHE D ‘ l l
® LFiE, BB ThHned 44.6/ 39.5 11.5 3.3 0.8 03] 4.24[ 4.23[ 4.25
Mol ET D | |
HEE, WA T DEIAK ‘ ‘
_ | ® #sEnsmnioicEEE 161 106 9.9 21 07 o0s| 430 31| 228 [N
1% o T EBNET A L
ZOREITH B ‘
el ;e;hsg)%%_g@bngfﬁ 465 424 9.0 1.0 04 05| 434 434| 4.35 —>
w _ _ — | |
7 :O)ﬁ%fgﬁ) tl//\‘\/l/&i‘ b1sTz ;i;l‘?i;: Ej;if: ’C“n;ygjf; ﬁiit 1;55'\2;: el 1 9 3 4 5
ILoTEITLID 11.8 331 536 09 01 05
BT DO BRAR I A B ‘ l l
@ Lahof¥aitEd Tz [ 39.0 42.8) 14.0 28 1.0  0.5] 4.17| 4.13[ 4.20
BUET e
= OREET L AR ___
| @ e, mEEEeEs | 453 405 11 130 05 02 4s0| 420 23] (R
N W ESTZEBNET ) i 1 1
= - I I
fili | @ %E?g%;@é’%fu,# 3.7 107 128 1.6 08 03] 425 4.24) 26| (NN
®-1 %ﬁgz}g\;ﬁ;ié’wx 285 498 172 17 14 14| a0sf so1| 411| |G
FAENSDE MO I ‘ ‘
@2 (REMIALET) 35Y | 380 305 197 35 07 35| 00| 435 2.72| | ©
. FL7= ] ]
% [ l l
R LAR— 7R E R B
0 . : —
:@ﬁ‘%d)ljﬂﬁﬁ\%?% | |
@1 EECEELIOLEONS | 654 286 40 15 - o5 450l 461l 451 |GGG
PELRELA [ ——
ORI A ORI ‘
@5 &fﬁ:gﬁgbéﬁa 59.3 29.3 8.2 13 0.6 13| 4.48[ 4.49| 4.44 —

= REREIIRY




